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QUESTION 1

According to the configuration shown in the figure below, you can know that R4 has an interface advertised into IS-IS? 

A. 1 

B. 3 

C. 2 

D. 0 

Correct Answer: B 

 

QUESTION 2

BGP4+ carries the next hop address of the IPv6 route through the Next Hop attribute in the Update packet. 

A. True 

B. False 

Correct Answer: B 
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QUESTION 3

In the multi-level RR scenario, a large number of secondary RRs will be connected to the primary RR, which may lead
to BGP of the primary RR. The routing table overflows, what method can be used to reduce the risk of overflowing the
routing table of the advanced RR BGP? 

A. ORF 

B. route aggregation 

C. routing control 

D. set the sameCluster-ID 

Correct Answer: B 

 

QUESTION 4

IGP converges faster than BGP, which may cause network traffic loss. By enabling the OSPF and BGP linkage feature
of the device, the device can keep the OSPF and BGP linkage during the set linkage time.____The router makes the
link metric value in the LSA advertised to be the maximum value, so as to inform other OSPF devices not to use this
router to forward data, so as to avoid traffic loss. (Note: If English letters are involved, all uppercase) 

A. STUB-ROUTER 

Correct Answer: A 

 

 

QUESTION 5

Deploying port isolation technology in Ethernet can realize Layer 2 intercommunication and Layer 3 isolation, making
networking more flexible. 

A. correct 

B. mistake 

Correct Answer: B 
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